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Question 1

A) Frog
B) Chicken
C) Mosquito

¥ D) Cockroach
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Question 2

Booklet A (28 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct answer.

The diagram below shows the life cycle of an animal.
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nymph

Multiple Choice
No

Mon 11th Jan 2021
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Which animal is likely to have the life cycle shown above?
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The graph betow shows the number of days for oach stage of tha life cycle of

arganism X.

mwarmber of days

-

20—

=

|
T

How many days would organism X lake to become an adult after the egg is

halched?
A) 9days
B) 19 days
v' C) 23days
D) 26 days
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
Last Modified: N/A
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A) Ferns
B) Mosses
C) Bacteria

v' D) Flowering plants
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The table below shows the characheristics of four arganlsms A, B, G and D, A Gick
{~"} ahows that the organism has the charactarstic.

Characleriati Organisms
A B C D
produces lowers v o=
grows on kand v i 4
 makes food o v v

Fpova?

=z
o o w >
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Question 5

A)

https://www.classmarker.com/a/tests/test/?test_id=1637684&trk=edittest_inrow_edit
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Multiple Choice
No

Mon 11th Jan 2021
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Which one of the animals shown below is not an insect?

Which one of the following organisms A, B, C or D represents he planl shown
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Question Type: Muiltiple Choice
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The diagram below shows a young plant

leaf
ol _"\-_‘ .- d _:‘__:_‘ ;___.f._‘!-:...._-'., -n .:_ e “ﬂ
The leaf helps the plant to 1

v" A) make food
B) grow upright
C) take in water

D) take in minerals

Question Type: Muiltiple Choice
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The diagram below ahows the tiny openings found on a leaf,

magnifisd view

What is the funclion of the tiny openings of i leal?

A) To trap light
B) To take in light
C) To help the plant reproduce

v' D) To help the plant take in and give out gases

Question Type: Multiple Choice

Randomize Answers: No
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Last Modified: N/A
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What is generally common among insects and birds?

A) They have three body parts

B) Their young look like the adult
v C) They reproduce by laying egg

D) They have the same type of body covering

Question Type: Muiltiple Choice
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The disgram below shows animals X and ¥,

_ Animal X

Which group 4, B, Ewummnxmufhﬂumh?

e

I Animal X | Animal ¥

{1 A_ e

(2) A =

|:3|‘ B E C

(4) B D ]

el
A) 1
v B) 2

C) 3
D) 4

Question Type: Multiple Choice

Randomize Answers: No
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Tha pictura bedow shows Faisal playing basketball.

Which argan sysbams in hiz body work togathar when he plays Haskethall?

A Sliaatal sysbam
B Muscular sysiem
C Circudatlony system
o Respiratory systen -
A) AandBonly
B) B and C only
C) A,CandDonly
v D) A B,CandD
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,811,148
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A) AandB only
B) B and C only
C) A,BandConly

¥v' D) B, CandDonly

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
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Study the diagram bekw,
D &y =
B
—

i

A) A
B) B
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Matter is anything that has mass and occupies space. Which one of the following is not matter?

_,._ 150 em? of air

| 150 o of ol

What will happan to the mass and volumes of air inside e container when the
plunger i3 pushad In?

Mass Volume
{1) m@?ﬂapm deaasas
12) decreases decreazes
(2 moreasss ncresses
4] remain the same Imereages

v A) 1
B) 2
c) 3
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A) air

B) sand

C) water

v' D) shadow

Question Type: Multiple Choice
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D) 4
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Which one of the following can be attracted by a magnet?

v' A) steel ruler
B) plastic ruler
C) wooden ruler

D) aluminium ruler

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,811,254
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Sihuchy the diagram below.
iring
string
woodan biock T

Sus pbsaryed it tha string with the paper cip remained upright when it was
placed naar the magnet

What can Sue conchude from her obasrvation?

The giring &5 made of a magnetic matesial,

The pape: ciip & mada of 3 magnatic metaral

The magnet and the paper clip e repaling sach other,
Magnatic foroe can act af a distance.

(=R R =l

A) Aand Conly
¥v' B) BandD only

C) A,BandConly
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expaiment are shawn
X and ¥ repals
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w _x] = [w  x Z “vy
el s rod A fod B
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A X and Y are uniike poles.
c hh'mlmdﬂkﬁﬂhufw,

A) Aonly

v' B) Bonly
C) BandConly
D) A, BandConly

Question Type: Multiple Choice
Randomize Answers: No
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Shudy Tha diasgram below,

wooden block

M\:ﬁ(i .

L]
1]

Al placed the wooden block at pogsition A and recorded the haight of the shadow

Eosrried an the scresn. Hurap&uﬂmwtwmugmmm
at poaitiona B, © and .

muharmmmmnmmmmmuMMu&am
wonden block & posifions A, B, € and 7

A)
height of shadow (cm)
F 3
A B C D position
B) -
height of shadow (cm)
F
A B C D position
C)
height of shadow (cm)
&

A B C D positon
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height of shadow (cm)

A B ©C D position

Question Type: Multiple Choice
Randomize Answers: No
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Study the diagram below,

ey

bal @

mmﬂhbﬂﬂmﬂhﬂﬁwmwmm

L.

e

A) light has no mass
B) light can be reflected
v C) light travels in a straight line

D) line does not occupy space

Question Type: Muiltiple Choice
Randomize Answers: No
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_____pass thiough through
Mﬂun‘r:;ﬁl‘id:tiﬂ Muwr;ﬂuﬁthhm Allew no light to pass
Fa
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Lewzk at the ploture bealow,

[

apole on the table

Which one of the following explains why Nirmala can ses the apple on tha
tabls?

diraction of ight

A)

5

B)

v C)

D)

https://www.classmarker.com/a/tests/test/?test_id=1637684&trk=edittest_inrow_edit 18/44


https://0cm.classmarker.com/6226088_KDMUY0DY.png

8/6/2021

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Muiltiple Choice
No

Mon 11th Jan 2021
N/A

25,811,384

Which one of the following is not a source of heat?

A) The sun
B) A lighted bulb
v C) A cotton shirt

D) A candle flame

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 24

Muiltiple Choice
No

Mon 11th Jan 2021
N/A

25,811,393
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Bonnie wants to measure the temperature of cold water in a beaker.

Which one of the following diagrams shows the correct position of the thermometer when taking the

temperature reading?

A)
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B)

v C)

D)

Question Type: Multiple Choice
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Question 25

Mary heated a beaker of tap water until it boiled. She kept it boiling for another two minutes. Then, she

placed the beaker of water in the refrigerator.

Which of the following graphs shows the changes in the water temperature from the time she started to

heat the water to the time she placed it in the refrigerator?

A)
temperatura (°C)
&
100 T
i s
time (min)
B) —
temperature (°C)
100 T
a s
: time (min)
C)
temperature (°C)
&
100 T
Q s
time (min)
v D)
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temperature (°C)
&
100 T
(1] ¥
time (min)
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Last Modified: N/A
QID#: 25,811,474
Question 26 Primary 4 Science » Primary 4 Science (Term 4)

A)
B)
C)

»w X O T

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Mon 11th Jan 2021
Last Modified: N/A

QID#: 25,811,487
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021

Last Modified: N/A
QID#: 25,811,500

Question 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following objects is not made of waterproof material?

A)

metal pot

B)
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rubber boots

v C) B

tissue paper

B

plastic boitle

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Mon 11th Jan 2021
Last Modified: N/A

QID#: 25,811,568

Question 29 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it
was designed in such a way that it requires manual assistance.
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The diagram below shows the stages in the life cycle of a plant.

X Y

Choose the comect words from the bax to answer the question below.
Stage X:

A) fruit

v B) seed
C) young plant
D) flower

E) adult plant

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 11th Jan 2021

Last Modified: N/A

QID#: 25,812,205

Question 30 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
Stage Y:
A) fruit

B) seed

v' C) young plant
D) flower

E) adult plant

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 11th Jan 2021

Last Modified: N/A

QID#: 25,812,213
Qu estion 31 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Ivan camead out an exparmment with thres similar pots of plants of heighd 7 om, Ha
reaaured the height of each plant &t tha end of ten days and recordad the results in

ClassMarker - Manage Test

the table below.
Pt | AMOURE Water given Amount of fertiliser |  Height of plant
daily {mi} given {g) after 10 days {cm)
A 10 5 10
- | 16 5 12
c 20 5 15

What was he trying fo find out from his expenment?

Question Type: Essay

Date Added:
Last Modified:
QID#:

days.

days.

Mon 11th Jan 2021
N/A
25,812,222

Correctly answered feedback
To find out if the amount of water given daily to the plants affect the height of the plant after 10

Incorrectly answered feedback
To find out if the amount of water given daily to the plants affect the height of the plant after 10

Question 32

How does the moss obitain s food?

Question Type: Essay

Date Added:

Mon 11th Jan 2021

Last Modified: N/A

QID#:

25,812,232

Correctly answered feedback
It traps light and makes food via photosynthesis

Primary 4 Science » Primary 4 Science (Term 4)
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Incorrectly answered feedback
It traps light and makes food via photosynthesis
Question 33 Primary 4 Science » Primary 4 Science (Term 4)

SHale two differences between the bird's nest fem and the
Hheir methed of reproduction and their plant parts. Sunfiower in terms: of

Methad of reproduction:

Flant parks:

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,266

Correctly answered feedback
Method of reproduction: The bird's nest fern reproduce by spore but the sunflower reproduce by
seeds

Plant parts: The bird's nest fern does not have a flower but the sunflower has a flower

Incorrectly answered feedback
Method of reproduction: The bird's nest fern reproduce by spore but the sunflower reproduce by
seeds

Plant parts: The bird's nest fern does not have a flower but the sunflower has a flower

Question 34 Primary 4 Science » Primary 4 Science (Term 4)

Thee dizg:m below shows the human digeative system. Substance P found in
-part X of te human digestive system helps in the digestion process,

Othar then breaking down some fiood into simpler substances, state another
function of substance P.

Question Type: Essay
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Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,356

Correctly answered feedback
It soften the partially digested food and makes it easy to swallow

Incorrectly answered feedback
It soften the partially digested food and makes it easy to swallow

Question 35 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Explain what happens to the digested food at part Y go the human digestive system

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,362

Correctly answered feedback
The digested food would be absorbed into the bloodstream

Incorrectly answered feedback
The digested food would be absorbed into the bloodstream

Question 36 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Hannah conducied an experiment &% shown below, She wanbed o find out if the
amount of digestive juices affects the fime taken for food o ba digested.

| Setups | Amount of digestive julces (mi} | Amount of feod (g)
X 200 50
Y 200 100
z 150 50

Based on the tabde above, which two sel-ups shoutd she use o conduct a Fair
tegE?

v A) X
B) Y
v C) 7
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Question Type: Multiple Response

Randomize Answers: No

Grade style: Full points if all answers are correct
Date Added: Mon 11th Jan 2021

Last Modified: N/A

QID#: 25,812,381

Correctly answered feedback

X

Question 37 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,391

Correctly answered feedback
All of them lay eggs

Incorrectly answered feedback
All of them lay eggs

Question 38 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

State one difference between animals A, B, C and D

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,395

Correctly answered feedback
Animal B has moist skin while Animal C has feathers

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1637684&trk=edittest_inrow_edit 29/44


https://www.classmarker.com/a/tests/qb/manage/?test_id=1637684&question_id=25812381
https://www.classmarker.com/a/tests/qb/manage/?test_id=1637684&question_id=25812381&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1637684
https://0cm.classmarker.com/6226088_PX3123M9.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1637684&question_id=25812391
https://www.classmarker.com/a/tests/qb/manage/?test_id=1637684&question_id=25812391&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1637684

8/6/2021 ClassMarker - Manage Test

Animal B has moist skin while Animal C has feathers

Question 39 Primary 4 Science » Primary 4 Science (Term 4)

Argdhnﬁ:iﬁudthcmirmltﬂ. B. C and L into two groups shown Below

I Animals |1'
[ | =

Q

P
|
Andmal A Animal ©
‘ Animal 8 Animal D
| Wiite suitable haad ;
- Inge for P and Q in the blanks below,

P:

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,413

Correctly answered feedback

P: Do not have feathers.

Q: Have feathers, .

Incorrectly answered feedback

P: Do not have feathers.

Q: Have feathers. )

Question 40 Primary 4 Science » Primary 4 Science (Term 4)
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Adam accidentally spills the ofl from a botles anto a tabla shown bebow,

bottle
ail

The volume of oil remains the sama but its shaps changes
3 This shows that o is a3 i

A) gas
B) solid
v C) liquid

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
Last Modified: Mon 11th Jan 2021
QID#: 25,812,427

Question 41

Adam pours some marbles from a bottle onto a.table shown balow.

tabibe

marble /HHS@(AT

f .
| ] Il
The ehape and volume of the marbles remain the samea.

1 This shows thatamarbla is a

A) gas
v B) solid

C) liquid
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,430
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Qu estion 42 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Adarm Inverted a plastie sup shown below,
In the diagram, draw a ne to indicate the water level In the invered cup as he slwly
pusbed [t stralght Into the container af water, :

ivverted plastic cup

Please type "done" to proceed to the next question

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,812,451

Correctly answered feedback

Incorrectly answered feedback

Question 43 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Give a reason for the water level you have drawn in (c)

Question Type: Essay
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Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,307

Correctly answered feedback
Air occupies space in the cup and hence water rise a little or falls below the water level of the
container

Incorrectly answered feedback
Air occupies space in the cup and hence water rise a little or falls below the water level of the
container

Qu estion 44 Primary 4 Science » Primary 4 Science (Term 4)

M:Tunma:faﬂmmnthh;h sand &5 shown in tha diagram below:

mmumwmwﬂmuhm m_ fee]
munmmmmmmm%-mhﬁm. -

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,316

Correctly answered feedback
No. Sand is a solid because each grain of sand is a tiny solid that has a definite shape.

Incorrectly answered feedback
No. Sand is a solid because each grain of sand is a tiny solid that has a definite shape.

Question 45 Primary 4 Science » Primary 4 Science (Term 4)

She chsarved that afier addin 2
q 100 coer of water intn
ﬁwmmm&ﬂﬂmm | h ﬂ'ﬂh’i’ﬂ_'}ﬂLH’H!‘ﬂh'm

sard and watar
lees than

0 g

flewsar pot

Explain why the total wolume of sand and waler ks less Bean 300 cmd
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Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,375

Correctly answered feedback

Incorrectly answered feedback

Question 46

halder
magnet ¥,

magnat ¥

The holder was made of wood and did not attract the magnets.
Vioodis a maberial,

Accepted answers:
¥’ non-magnetic
¥’ non- magnetic
¥’ non -magnetic
v non - magnetic

¥ non magnetic

Question Type: Free Text

Date Added: Mon 11th Jan 2021

Last Modified: Mon 11th Jan 2021

QID#: 25,813,389
Question 47

Why was magnet X above magnet Y?

Magnet Y was magnet X.

Accepted answers:

v repelling

https://www.classmarker.com/a/tests/test/?test_id=1637684&trk=edittest_inrow_edit

Water is a liquid that occupies the small air spaces between the solid grains of sands

Water is a liquid that occupies the small air spaces between the solid grains of sands

Primary 4 Science » Primary 4 Science (Term 4)

ding Jing placed bwo ring magnets & and Y through a holder shovwn below.

Primary 4 Science » Primary 4 Science (Term 4)
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Question Type: Free Text

Date Added: Mon 11th Jan 2021

Last Modified: N/A

QID#: 25,813,404

Question 48 Primary 4 Science » Primary 4 Science (Term 4)

Jing Jing tried to push magnet X towarda magnet ¥ as shown balow.
l;;ﬁ- a

rrmgnet X
megnet ¥

Shia chaarsed thal ehe had to push hardar ae distanca P decressed. Give & reason
far her cbsaration.

distancs P

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,418

Correctly answered feedback
As distance P decreases, the repulsion between two magnets increases.

Incorrectly answered feedback
As distance P decreases, the repulsion between two magnets increases.

Question 49 Primary 4 Science » Primary 4 Science (Term 4)

Jing Jing replaced magnet Y with a rubber ring shown below,

\What will happen to distance P? Give a reason for your answer.

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,427

Correctly answered feedback
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Distance P would become zero as rubber is not a magnet

Incorrectly answered feedback
Distance P would become zero as rubber is not a magnet

Question 50 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

« Yvonne cameed oul an mtp-i:mhhmm numbear
around an inon ned affects Mmeﬂmmmwt bbb

batteries
wirE

dron

cails of wirg

r o
\ iray of efes| pins
Bhe recorded her rosulis hﬂ{.mml
faumber of ping attracied
]

=

numbar of coily af wirg

. what can she conclude abous fha
rumber of colls of wire
M i 1)

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,436

Correctly answered feedback
The greater the number of coils of wire, the greater the number of pins attracted by the
electromagnet

Incorrectly answered feedback
The greater the number of coils of wire, the greater the number of pins attracted by the
electromagnet

Question 51 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

State one other variable that should be kept unchanged for Yvonne's experiment to be fair.

Question Type: Essay
Date Added: Mon 11th Jan 2021
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Last Modified: N/A
QID#: 25,813,442

Correctly answered feedback
The number of batteries used in the set-up should be the same.

Incorrectly answered feedback
The number of batteries used in the set-up should be the same.

Qu estion 52 Primary 4 Science » Primary 4 Science (Term 4)

Yvonne changed the iron nail to a copper nail for her electro magnet. What would she observe? Give a
reason for your answer.

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,454

Correctly answered feedback

The copper nail would not attract any steel pins. Only magnetic materials such as the iron nail can
be made into electromagnets. Copper is a non-magnetic material, and thus, the copper nail would
not attract and steel pins

Incorrectly answered feedback

The copper nail would not attract any steel pins. Only magnetic materials such as the iron nail can
be made into electromagnets. Copper is a non-magnetic material, and thus, the copper nail would
not attract and steel pins

Qu estion 53 Primary 4 Science » Primary 4 Science (Term 4)

Zoey shines a torch on a balt and a shadow is formed on a smoath wall,

—a: @ |
torch ball -
wiall

A shadaw & formed when path of fight Is by s objoct.

Accepted answers:

¥ blocked

Question Type: Free Text
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Date Added: Mon 11th Jan 2021

Last Modified: N/A

QID#: 25,813,459

Question 54 Primary 4 Science » Primary 4 Science (Term 4) O pts

Diraw the shadow of the ball that s formed on the wall in the box below.

vead|
Please type "done™ to proceed to the next question
Question Type: Essay
Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,466
Correctly answered feedback

Incorrectly answered feedback
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wall

Question 55 Primary 4 Science » Primary 4 Science (Term 4) O pts

Zoey conducted another experiment by replacing the ball with object X. She observed that there was
no shadow formed by object X on the wall.

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,634

Correctly answered feedback
Object X allows most light to pass through

Incorrectly answered feedback
Object X allows most light to pass through

Question 56 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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windscreen
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Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,569

Correctly answered feedback

Material D. It allows 796 lux of light pass through indicating that it allow most light to pass through
and it is transparent. The windscreen of a car has to allow most light to pass through so that the
driver can see other cars. Thus, Material D is most suitable to make a windscreen

Incorrectly answered feedback

Material D. It allows 796 lux of light pass through indicating that it allow most light to pass through
and it is transparent. The windscreen of a car has to allow most light to pass through so that the
driver can see other cars. Thus, Material D is most suitable to make a windscreen

Qu estion 57 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Other than the torch and the light sensor, state two variables that should remain the same for the
experiment to be fair.

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,633

Correctly answered feedback
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1. The thickness of the material
2. The distance of the material and the torch must be kept the same

Incorrectly answered feedback

1. The thickness of the material
2. The distance of the material and the torch must be kept the same

Qu estion 58 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Zuffri placed a plastic rod and a makal rod into a tank of bolling wabter shown belowe.
Equal amaunts of wan wene placed on bath rods.

P
What would ha observe and why?
The wax on the plagtic rod melted than the wax on the
metal rod, ae plastic is a conductor of haat than metal,
Accepted answers:
v slower, poorer
v slower , poorer
v slower,poorer
v slower poorer
¥’ Slower ,Poorer
Question Type: Free Text
Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,672
Question 59 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Zulfr placed a rmetal spoon in & bowl of Fod soup shown below, Zuffi abearsed thet

the spoon bacama hot after & whila.
“ ——— rrtal spoon
bavl of hot soup
Eplain wihy the spoan bacams hat after & wihis, |

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,694

Correctly answered feedback
Metal is a goof conductor of heat, the heat from the bowl of hot soup heated the spoon quickly, the
spoon gained heat, so it is hot

Incorrectly answered feedback
Metal is a goof conductor of heat, the heat from the bowl of hot soup heated the spoon quickly, the
spoon gained heat, so it is hot

Qu estion 60 Primary 4 Science » Primary 4 Science (Term 4)

= u:hmmﬂtmm‘|
. - 4
= 3

Fmﬂ'ﬂmﬂulh,hm i
ey mrlmmra.ﬂmnhmemmdmnmm

Question Type: Essay
Date Added: Mon 11th Jan 2021
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Last Modified: N/A
QID#: 25,813,704

Correctly answered feedback

Container A. It conducted heat from the fire to the ice cubes the fastest as it only took 2 minutes to
melt which is the fastest time to melt

Incorrectly answered feedback

Container A. It conducted heat from the fire to the ice cubes the fastest as it only took 2 minutes to
melt which is the fastest time to melt

Qu estion 61 Primary 4 Science » Primary 4 Science (Term 4)
Liza wanted to pack some ice cream in a container to bring to her friend's house.

Based on the results shown above which container A, B or C should she used to pack the ice cream?
Give a reason for your answer

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,725

Correctly answered feedback

Container B. It took 4 minutes to melt indicating that it took the longest time to melt the ice and it is
the poorest conductor of heat. A container of ice cream has to keep the ice cream cold for the
longest time. Hence, Container B is most suitable to make a container to contain ice cream.

Incorrectly answered feedback

Container B. It took 4 minutes to melt indicating that it took the longest time to melt the ice and it is
the poorest conductor of heat. A container of ice cream has to keep the ice cream cold for the
longest time. Hence, Container B is most suitable to make a container to contain ice cream.

Qu estion 62 Primary 4 Science » Primary 4 Science (Term 4)

. Bandra conducied an experdment using thres rods made of makesials S, T and UL
She maasured the distincs bent by the rods when B samme weight was hung on tha
rods and reconded the results in the tabile below.

Matorial | Distance bent cm)
12

==t

3 i
]

) State the property of the material hat s baing lested in this expermant.

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,733
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Correctly answered feedback
The property is flexibility

Incorrectly answered feedback
The property is flexibility

Question 63 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Sandra wanted to make pert A of a fishing rod shown bedow.

part A

iy

i Based on her results, which material 5 T or L & mest sultable foe making pan A of
the fishing rod? Explain your answer,

Question Type: Essay

Date Added: Mon 11th Jan 2021
Last Modified: N/A
QID#: 25,813,741

Correctly answered feedback
Material S. It can bend the most without breaking and it can withstand the pull of the fish without
breaking so easily.

Incorrectly answered feedback
Material S. It can bend the most without breaking and it can withstand the pull of the fish without
breaking so easily.
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